<

FREREHA > 11.0 AT > QUF F QEBF RIS SsgE  CAMOZZ

Automation

QCTF 1 QCBF RINMNESH SzNiwE

WAEA, #iE, WS, WEER
£142 20, 25, 32,40

> HMEEF A TNEERET &
E KR =

> BRI REESEAEMRKE
ZSUSEERHER

{ » WEAFEM, BHERE

QCTF #1 QCBF RIIWMFAFS

€ T .

MR RNBERTYREERE, Y
BLREShENERES. BELZAR
BRUREWADENH, FEER BT
RR—NEMSE, BERNGRTETEE
RN TF XA,

QCTF #0 QCBF RIIMSHSENBEZ —FMESAHTERSERENHBE. <
HESEERBRITE—E, BHMETURIRANEROEFNE. HEIREM 20 = 40
mm HEH, STNRKIEEER, ERELSFEEREHTREE R, TEBHH
HRZBEROBES, STETTEREARD, ZRISHBERESREARINZE
W, BERERERSENIESSE.

SHMBENSEEARMER:. SEHREESEE (QUF) MRKRELSHSEE
(QCBF) ., HEMATBRAN, —RXA QUF &, MYEIEERS. BEAMERAN
WK QUBF 2,

FEBH
Eetafine ZER, BRE, WSt REER, QUFEXAEFENKREESEE, QBFEAXARKELSHSEE
THEARR WRIEA
s FRRELEE SRR, EHEMEER, FLIEASIZ03 RNFENEET, REABRHHH,
FLAR AISI 420B REEMSAT (QCT) =k (50 FFEHNS4T (QCB)
e M FREAE LB
1718 WFREFTRER
TIERE 0+80°C (FHE=S4-20°C)
EE 50+ 500 mm/s (=%k)
1TIRIRE . EENAME R
FXA 4RE . EENME
BENGEFERANER EEEEEETRE
TIRLLIRE . Zpas
#3X B 470 ZhER
SRR 42 im 28 . Zopas
K C 45El. BEENME R
BENGEFERANER EEEEEERE
TIEEA 1+10bar
N EHRSR, AREE. MEATHEEE, NAEMANERREDE CEIERIS0VGE32 JEiEiHh)
AN EIREN - RBCENORA, MATE, BRBTEA 1/4.10.01
FEERAF LSS, 2iEmETUAEEE 186

BAFRMHEEFHTERANTMEEN



¢«
CAEIOZ2! SHHITILEE > QCTF #0 QCBF R WSS 508 E FREAHA > 11.0

Automation

QCTF 0 QCBF RIS zhiR AR EITER

m =R AR C x =i B
IR ERRETOETRRR MR, I Smm ik

FofEfTRE (mm)

liH 7] 20 25 30 40 50 75 100 125 150 175 200
,EE[\E 20 [ [ [] [ "X "X "X X X "X
ﬁ 25 L [ L] [ mx X "X X X X
32 [] L] L] X X "X "X "X
40 [] L] L] "X X "X "X "X

QCTF 1 QCBF RIIMESHSEFERS
QC, T F 2 A 020 A 050
Qc EX]]

T £
T=FEMNFRLaLSEE
B= RHELSHSHE

QCTF A1 QCBF RFIMSHF=

RE

F F= B FERFEBILMBLA, RUNE TR LA R HEIRE

2 IfEAR HEERFS
2=1EM (D14

A w
A=TRIRE L BAESEM, LR AISI303 REENIEET,

420B RFENSF AT (QCTF) 3k (S0 FMFNS 4T (QCBF)

020 Z&
020=20mm - 025=25mm - 032=32mm - 040=40mm
A 2 e
A=tofR, EEVIME PR
B=RRFAEM LM 2 DEMHR
(= REARETER LN L ADE N

050 7% (mm)

1/4.10.02 AADRBIF [ALONH, MEXE, BFBHEA
= A RAT LY, EihE LY HE
187 BARKAHE R TERAL DM



<

FEREARA > 11.0 SHPATITAE > QCTF #1 QCBF R 5 SAF S EhiBEE CAEIOZ2!

Automation

| sxuvmernsx

BA N F1
1N =0.102 kgf }

#

W

F1 Fi =

! ! r

— H-

+&

o o op

. =3

L =

/

NG

L

[an]

o

(@

| —

=

L

—

o

HE- 78 ~
3 &5 20 25 30 40 50 75 100 125 150 175 200
20 QCTF 136 - 124 124 123 122 122 121 121 120 120
QCBF 146 - 142 140 139 137 136 134 94 70 53
25 QCTF 181 - 167 165 164 163 162 161 160 159 158
QCBF 171 - 167 165 163 161 160 160 159 142 109
32 QCTF - 174 - - 166 162 160 158 156 55} 153
QCBF - 220 - - 214 211 211 210 210 209 209
40 QCTF - 189 - - 175 168 164 161 159 157 155
QCBF - 228 - - 219 214 214 212 212 211 210

| sxsmnER
%4, Nm M1

1Nm=0.102 kgfm

i - 178
¥ 20 25 30 40 50 75 100 125 150 175 200
20 QCTF 3.6 ° 3.3 3.3 3.3 3.2 3.2 3.2 3.2 3.2 3.2
QCBF 3.9 - 3.7 3.7 3.7 3.6 3.6 3.6 2.5 1.89 1.4
25 QCTF 5.7 ° 5.2 5.2 5.2 5.2 5.1 5.1 5.1 5 5
QCBF 5.4 - 5.2 5.2 5.2 5.1 5.1 5.1 5 4.5 3.4
32 QCTF o 6.7 ° o 6.4 6.3 6.2 6.1 6 6 5.9
QCBF - 8.5 - - 8.3 8.2 8.2 8.1 8.1 8.1 8.1
40 QCTF = 8.1 ° = 75 72 7 6.9 6.8 6.7 6.6
QCBF - 9.8 - - 9.4 9.2 9.2 9.1 9.1 9 9
ANFREX - RBHENF], MEEE, BRBTEHN 1/4.10.03

FAEE@BTILGE, FitEETWREHEE
BAFRMHEEFHTERANTMEEN 188



(<4
CAEIOZ2! SHHITILEE > QCTF #0 QCBF R WSS 508 E FREAHA > 11.0

Automation

| oCF f0 QcBF RAIMSHSENBE (FHRA)

SRS . MESAGRIERETE, MR35 (R
FRESENTRETRR) | HRTIERRE F—
RERHRTER, BT 40,

| + = BT
_ s = BN 2 NTRE

N°4xP3 Y 02 01
i P3 Y4
< X2
k“H Y3 7
Hr g1
%) ;==|=. o= G
r 7 s w
H- b Il e i
45 s
P Vi
= ,
=~
/
N&
[N
= N°4xP1 N*4xP1
= F2 Fi 2-F
7 = 5 Fo°
= [3] © - H I r‘j
= & CR R K] ~=| 0
(@] o — & N N
9; = - - - %_1 - 9.' [ @ ]I: =
= N E— o — - h
ey [
. ] 0 (3)
N | ¥
L1+ S|A I_%J
M2 Al_ S+ L2 +
L3 ++
= ,EZZZZZZE _
&
H LA ®TO
2-F F6
F4 +
SEEHEMH. WA, HTR, R, WRORELE L, BREe. SRR, HERERNE. BRORELEL FREXETY.
FEEE. TRTHRT 02 F1IR 04
] P1 P3 Y1 Y2 Y3 Y4 X X1 X2 J K
20 M5x0.8 M6x1 3 3.5 3 6 5.5 9 5 44 M5
25 M6x1 M6x1 4 4.5 3 6 5.5 9 5 50 M5
32 M8x1.25 M8x1.25 4 4.5 3 6 6.5 11 6.5 63 M6
40 M8x1.25 M8x1.25 4 4.5 3 6 6.5 11 6.5 72 M6
02 02 02 04 04 04 QCBF QCTF
20-30 40-100 125-200 20-30 40-100 125-200 BC BC
20 24 44 120 29 39 77 10 12
25 24 44 120 29 39 77 12 16
32 24 48 124 33 45 83 16 20
40 24 48 124 34 46 84 16 20
Ra%®
g A D El1 E2 F F1 F2 F3 Fé4 F5 F6 Gl G2 HI 11 L2 13 MI M2 01 05 R S Y

20 10 10 70 18 1/8 10.5 10.5 25 12.5 11.5 10.5 81 30 54 37 53 69 83 36 17 28 12 6 28
25 10 12 78 26 1/8 11.5 8 28.5 12.5 13.5 11.5 91 40 64 37.5 53.5 69.5 93 42 17 34 12 6 34
32 12 16 96 30 1/8 125 9.5 34 7 15 12,5 110 45 78 37.5 59.5 81.5 112 48 21 42 16 10 42
40 12 16 104 30 1/8 13 12 38 13 18 13 118 45 86 44 66 88 120 54 22 50 16 10 50

1/4.10.04 AADRBIF [ALONH, MEXE, BFBHEA
Bl Ll e A RAT LY, EihE LY HE
189 BARKAHE R TERAL DM



FREERA > 11.0

| oCF#0QcBr RIIMSHSENBE (F4HkB)
‘s m B . MBSAGRNERESTRE, MTR 35 Rk
i FRESHNTHREAES) | ERTISHRBH —
- BITRHRTER, BT 40,
-l
]

+ = TR
=M 2 MR

SEBITICH > QUTF #1 QCBF RFIM ST SR E

Y4
—1 X Emi
N®4xP3 — 11 - Y3 W
P =0 o 11
=———"Ip o
(77777 = 1= ~
T H N N[I Yy
7 c Sz
P ===l s
T jup 3
w o2 ot
Y17 xY4 L.0_4_
L3 ++
2 e ULZ Y M
N°4 P M *
== - N N°4 P2
__L F2 2-F F1 2
¢€D¢ B \\’ — o &
£ AT e = °
Sl < J
_ e%%éﬂ{:g T —— <l -
o > - —4
| Hen {) @ |
2 o~ — +
L9, :
i}
y| GED
£2
62 _
3 — id
AP @
2-F Fé
F4 +
SETEHTAEE, WRA, WOR, RoXE. HSOWELE L, BRBE. GRN, EERERNE. $SOMELE L FRELESH,
FRIE. TRTHRT 0250R 04
2 P1 P3 T u Y Y1 Y2 Y3 Y4 X X1 X2 J K 2 heg E=ZEEINYTl)'q SETE
WE  BAKE AT
Et (Nm) (mm)
20 M5x0.8 Méx1 57.5 32 28 3 3.5 3 6 5.5 9 5 44 M5  SA-1007 0+15 0++12
25 Mé6x1 Mé6x1 62.5 38 34 4 4.5 3 6 5.5 9 5 50 M5 SA-1007 0+15 0++8
32 M8x1.25 M8x1.25 81 44 42 4 4.5 3 6 6.5 11 6.5 63 M6 SA-1412 0+:20 0=++10
40 M8x1.25 M8x1.25 85 44 50 4 4.5 3 6 6.5 11 6.5 72 M6 SA-1412 0+20 0++11
02 02 02 04 04 04 QCBF QCTF
75 100 125-200 20-30 40-100 125-200 @c @c
20 44 44 120 29 39 77 10 12
25 44 44 120 29 39 77 12 16
32 - 48 124 35! 45 83 16 20
40 - 48 124 34 46 84 16 20
R%
[} A 0 E1l E2 F F1 F2 F3 Fa+ F5 Fé6 Gl G2 G3 H1 L1+ L2+ L3++ M1 M2 01 03 R S
20 10 10 70 18 1/8 10.5 10.5 25 12.5 11.5 10.5 97 30 56.5 54 37 53 69 83 36 17 28 12 6
25 10 12 78 26 1/8 11.5 8 28.5 12.5 13.5 11.5 107 40 61.5 64 37.5 53.5 69 93 42 17 34 12 6
32 12 16 96 30 1/8 12.5 9.5 34 7 15 12.5 134 45 79 78 37.5 59.5 81.5 112 48 21 42 16 10

40 12 16 104 30 1/8 13 12 38 13 18 13 141 45 82 86 44 66 88

120 54 22 50 16 10

AAEREX - RBHONF, MEEXE. BABTEA
FAEE@BTILGE, FitEETWREHEE
BAFRMHEEFHTERANTMEEN

1/4.10.05

190

<

CAMOZZI

Automation

178 B

Z,

QCTF #1 QCBF RIIWMFAFS



<

CAMO2ZZI

Automation

g JHE

7

QCTF A1 QCBF RN SHF 5

SEHUTITH > QCTF #1 QCBF RIIMSHFSENIBE

| oCF f0 QcBr RAIMSHFSRE (FrH )
Goa ] & MESHAENEREGE, WA 35 (A
FRESHNTHRATES)  HERTEZEEF—
» FATRNRTER. BIF7EE 40,
i

2

b

+=1BINfTIE
++ =i 2 MTE

NedxP3 Y 02 _ 01

P3

}.'L‘:

REEREA > 11.0

R %2 —
P v
y-_' JhAR<S
. .
- 1 [=]
Y ©
04
N°4xP1 Fi 2-F
o] 2]
@ oY
] X .
ol 5 —+- A= T -
S -
g @ Eu 5 = —| &
> 1 .
t—en [
A :
(&~& N | _ i
£2 L1+ S|A 02 \_N°4xP1
G2 Al S+ L2 +
M2 L3 ++
( ||
H | 2
1 { /EB @
9f F6
F4 +
SRE LA, &R0, B, X3, BSAELEL BRTH, AN, BERERNH. BROBELEL, AFTEEREY,
FREE. {TETHRT 02 f1R~t 04
[ P1 P3 Ty Y Y1 Y2 Y3 Y4 X XL X2 1 K Z4%  SEFERK SHAE
S RAREE HHEE
Et (Nm) (mm)
20  M5x0.8 M6x1 37 28 3 3.5 3 6 55 9 5 44 M5 SA-1007W  0+25 -15+-25
25 M6x1 M6x1 37 34 4 4.5 3 6 55 9 5 50 M5 SA-1007W  0+25 -15+-25
32 M8x1.25 M8x1.25 55 42 4 4.5 3 6 65 11 65 63 M6 SA-1412W  0+35 -18+-35
40  M8x1.25 M8x1.25 55 50 4 4.5 3 6 65 11 65 72 M6 SA-1412W  0+35 -18+-35
02 02 02 04 04 04 QCBF QCTF
20-30 40-100 125-200 20-30 40-100 125-200 [[ e
20 24 44 120 29 39 77 10 12
25 24 44 120 29 39 77 12 16
32 24 48 124 33 45 83 16 20
40 24 48 124 34 46 84 16 20
Ri&®
g A D E E F F1 F2 F3 Fl+ F5 F6 Gl G2 HL 11+ 12+ 13+ M1 M2 01 03 R s
20 10 10 70 18 1/8 105 105 25 125 115 105 81 30 54 37 53 69 83 36 17 28 12 6
25 10 12 78 26 1/8 115 8 285 125 135 115 91 40 64 375 535 695 93 42 17 34 12 6
32 12 16 9 30 1/8 125 95 34 7 15 125 110 45 78 375 595 815 112 48 21 42 16 10
40 12 16 104 30 1/8 13 12 38 13 18 13 118 45 86 44 66 8 120 54 22 50 16 10
1/4.10.06 ANTRBX - QAN WHEE, BABTEM
42000 P RAFILSE, $iaET L

191

BAFRMEERFTERLATMNEER





